© 2025 General Motors

Make: Chevrolet Year: 2024 Model: Colorado

C - Chevrolet>2024>4 - 14B - Colorado>09 - BODY MOUNTING-AIR CONDITIONING-AUDIO/ENTERTAINMENT>(U409-023) 2023-2025 4G,4H,
4P CAMERA SYSTEM (UNDERBODY VIEW UXA)

O = ﬁm Single Use Part

U409-023 09/29/2022

VIEW[A]



Make: Chevrolet

© 2025 General Motors

Year: 2024

C - Chevrolet>2024>4 - 14B - Colorado>09 - BODY MOUNTING-AIR CONDITIONING-AUDIO/ENTERTAINMENT>(U409-023) 2023-2025 4G,4H,4P CAMERA SYSTEM (UNDERBODY VIEW UXA)

Colorado

Call Part # Group H Description Usage Year Qty
HOSE, U/B CAMR NOZ (ACDelco #84968441) (FOR USE ON
1 84968441 09.715 VEHICLES BUILT PRIOR TO 11-MAR-2024) (FOR 2ND DES SEE 4 (43) (UXA) (1ST DES) 2024 - 2024 01
85082252)
HOSE, U/B CAMR NOZ (ACDelco #85082252) (FOR USE ON
1 85082252 09.715 VEHICLES BUILT ON OR AFTER 11-MAR-2024) (FOR 1ST DES 4 (43) (UXA) (2ND DES) 2024 - 2024 01
SEE 84968441)
HARNESS, CHAS WRG (SEE GROUP 02 \"WIRING
2 02.480 HARNESS/CHASSIS WIRING\" FOR DETAILED ILLUSTRATED 2023 - 2025
VIEW)
3 86812340 09.715 HARNESS, RR VIEW CAMERA WRG (ACDelco #86812340) 4 (43) (UXA) 2023 - 2025 01
4 11546969 09.715 ESOGL)T RR VIEW CAMERA BRKT (PART OF 15) (M4X1.46X14) (10. 4(43) 2023 - 2025 02
5 NS BEZEL, FV DRVR INFO CAMERA (PART OF 15) 2023 - 2025
6 11548579 09.715 NUT, .U/B CAMR BRKT (JET BLACK) (M4.2X1.4X17) (8.921) 4(43) (UXA) 2023 - 2025 04
(Service Lane Part)
7 11602085 09.715 NUT, U/B CAMR BRKT (M8X1.25) (7.629) 4 (43) (UXA) 2023 - 2025 05
8 11588724 09.715 BOLT, U/B CAMR BRKT (M8X1.25X30) (FLANGE) (8.900) 4 (43) (UXA) 2023 - 2025 05
(Service Lane Part)
9 86827907 09.715 SEAL, RR VIEW DRVR INFO CAMR (LABELED 86827907) 4 (43) (UXA) 2023 - 2025 AR
10 11602876 09.715 E;.:I) U/B CAMR BRKT (M4.2X1.41X30) (9.665) (Service Lane 4 (43) (UXA) 2023 - 2025 04
11 84974249 09.715 GUARD, U/B CAMR 4 (43) (UXA) 2023 - 2025 AR
12 85620396 09.715 NOZZLE, U/B CAMR (ACDelco #85620396) 4 (43) (UXA) 2023 - 2025 02
13 85535745 09.715 BRACKET, U/B CAMR 4 (43) (UXA) 2023 - 2025 02




Call Part # Group Description Usage Year Qty
14 NS SEAL, RR VIEW DRVR INFO CAMR (PART OF 15) 2023 - 2025
15 09.715 CAMERA, RR VIEW U/B (INCLS 4,5,14,16) 2023 - 2025
16 NS RETAINER, RR VIEW CAMERA (PART OF 15) 2023 - 2025
17 09.715 HOSE, U/B CAMR NOZ EXTN (SEE GROUP 10 \"WIPER 2023 - 2025

SYSTEM/WINDSHIELD\" FOR DETAILED ILLUSTRATED VIEW)




Make: Chevrolet

C - Chevrolet>2024>4 - 14B - Colorado>09 - BODY MOUNTING-AIR CONDITIONING-AUDIO/ENTERTAINMENT>(U409-023) 2023-2025 4G,4H,4P CAMERA SYSTEM (UNDERBODY VIEW UXA)

© 2025 General Motors

Year: 2024

Regulatory Information - Warnings displayed by Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

- HOSE, U/B CAMR NOZ (ACDelco #84968441) (FOR USE ON VEHICLES BUILT PRIOR TO 11-MAR-2024) (FOR 2ND DES SEE 85082252)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- HOSE, U/B CAMR NOZ (ACDelco #85082252) (FOR USE ON VEHICLES BUILT ON OR AFTER 11-MAR-2024) (FOR 1ST DES SEE 84968441)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- HARNESS, RR VIEW CAMERA WRG (ACDelco #86812340)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- BOLT, RR VIEW CAMERA BRKT (PART OF 15) (M4X1.46X14) (10.056)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- NUT, U/B CAMR BRKT (JET BLACK) (M4.2X1.4X17) (8.921) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- NUT, U/B CAMR BRKT (M8X1.25) (7.629)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- BOLT, U/B CAMR BRKT (M8X1.25X30) (FLANGE) (8.900) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- SEAL, RR VIEW DRVR INFO CAMR (LABELED 86827907)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- NUT, U/B CAMR BRKT (M4.2X1.41X30) (9.665) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- GUARD, U/B CAMR
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- NOZZLE, U/B CAMR (ACDelco #85620396)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- BRACKET, U/B CAMR
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

Model: Colorado



